Available online at http://scik.org

Advances in Fixed Point Theory, 1 (2011), No. 1, 15-26

ISSN: 1927-6303

ITERATIVE SOLUTIONS OF A SYSTEM OF EQUILIBRIUM PROBLEMS IN HILBERT SPACES

SHENGJU YANG* AND WENLING LI

School of Mathematics and Information Science, Henan Polytechnic University, Jiaozuo 454150, China

Abstract. In this paper, a system of equilibrium problems is investigated based on an implicit iterative algorithms with errors. The theorem of weak convergence for solutions of the system of equilibrium

problems is established in the framework of Hilbert spaces.

Keywords: equilibrium problem; fixed point; nonexpansive mapping; solution; variation inequality.

2000 AMS Subject Classification: 47H05, 47H09, 47J25

1. Introduction

Equilibrium problems which were introduced by Blum and Oettli [1] in 1994 have

had a great impact and influence in the development of several branches of pure and

applied sciences. It has been shown that the equilibrium problem theory provides a novel

and unified treatment of a wide class of problems which arise in economics, Finance,

image reconstruction, ecology, transportation, network, elasticity and optimization. It has

been shown that equilibrium problems include variational inequalities, fixed point, Nash

equilibrium and game theory as special cases. Hence collectively, equilibrium problems

cover a vast range of applications. To study solution problem of equilibrium problem,

*Corresponding author

E-mail addresses: lwl@hpu.edu.cn(W. Li)

Received December 19, 2011

15

iterative methods are efficient. Indeed, many well known problems arising in various branches of science can be studied by using algorithms which are iterative in their nature. For iterative algorithms, the oldest and simplest one is Picard iterative algorithm. For a contraction mapping T, it is known that T enjoys a unique fixed point and the sequence generated in Picard iterative algorithm can converge to the unique fixed point. However, for more general nonexpansive mappings, Picard iterative algorithm fails to convergence to fixed points of nonexpansive even that it enjoys a fixed point. Recently, implicit or explicit type iterative algorithms have been considered for the approximation of fixed points of nonexpansive mappings and solutions of equilibrium problem; see, for example [2-19]. For implicit iterative algorithms, classical weak convergence theorems of implicit iterative algorithms were established in Xu and Ori [15]. In this paper, we study a system of equilibrium problems based on an implicit iterative algorithm. Convergence theorems for solutions of equilibrium problems are established in Hilbert spaces.

2. Preliminaries

Throughout this paper, we assume that H is a real Hilbert space, whose inner product and norm are denoted by $\langle \cdot, \cdot \rangle$ and $\| \cdot \|$. Let C be a nonempty closed and convex subset of H and $A: C \to H$ a nonlinear mapping.

Recall that the classical variational inequality problem is to find $x \in C$ such that

$$\langle Ax, y - x \rangle > 0, \quad \forall y \in C.$$
 (2.1)

It is known that $x \in C$ is a solution to the variational inequality (2.1) if and only if x is a fixed point of the mapping $P_C(I - \rho A)$, where P_C is the metric projection from H onto C, $\rho > 0$ is a constant and I is identity mapping. This implies that the variational inequality (2.1) is equivalent to a fixed point problem. This alternative formula is very important form the numerical analysis point of view.

Let F_1 and F_2 be bifunctions of $C \times C$ into \mathbb{R} , where \mathbb{R} is the set of real numbers. In this paper, we consider the following problem based on an implicit iterative algorithm:

Find
$$x \in C$$
 such that $F_i(x, y) \ge 0$, $\forall y \in C$, (2.2)

where $i \in \{1, 2\}$. To study bifunctions equilibrium problem, we may assume that the bifunction $F: C \times C \to \mathbb{R}$ satisfies the following conditions:

- (A1) F(x,x) = 0 for all $x \in C$;
- (A2) F is monotone, i.e., $F(x,y) + F(y,x) \le 0$ for all $x,y \in C$;
- (A3) for each $x, y, z \in C$, $\limsup_{t\downarrow 0} F(tz + (1-t)x, y) \le F(x, y)$;
- (A4) for each $x \in C$, $y \mapsto F(x, y)$ is convex and lower semi-continuous.

Let $T: C \to C$ be a mapping. Recall that the mapping T is said to be nonexpansive if

$$||Tx - Ty|| \le ||x - y||, \quad \forall x, y \in C.$$

In 2001, Xu and Ori [15] introduced the following implicit iteration process for a finite family of nonexpansive mappings $\{T_1, T_2, \dots, T_N\}$, with $\{\alpha_n\}$ a real sequence in (0, 1), and an initial point $x_0 \in C$:

$$x_{1} = \alpha_{1}x_{0} + (1 - \alpha_{1})T_{1}x_{1},$$

$$x_{2} = \alpha_{2}x_{1} + (1 - \alpha_{2})T_{2}x_{2},$$

$$\vdots$$

$$x_{N} = \alpha_{N}x_{N-1} + (1 - \alpha_{N})T_{N}x_{N},$$

$$x_{N+1} = \alpha_{N+1}x_{N} + (1 - \alpha_{N+1})T_{1}x_{N+1},$$

$$\vdots$$

which can be re-written in the following compact form:

$$x_n = \alpha_n x_{n-1} + (1 - \alpha_n) T_n x_n, \quad \forall n \ge 1, \tag{2.3}$$

where $T_n = T_{n(modN)}$ (here the mod N function takes values in $\{1, 2, ..., N\}$). Xu and Ori [15] obtained the following results in a Hilbert space.

Theorem XO. Let H be a real Hilbert space, C a nonempty closed convex subset of H, and $T: C \to C$ be a finite family of nonexpansive self-mappings on C such that $F = \bigcap_{i=1}^{N} F(T_i) \neq \emptyset$. Let $\{x_n\}$ be defined by (2.3). If $\{\alpha_n\}$ is chosen so that $\alpha_n \to 0$, as $n \to \infty$, then $\{x_n\}$ converges weakly to a common fixed point of the family of $\{T_i\}_{i=1}^N$.

We remark that, from the view of computation, the implicit iterative scheme (2.3) is often impractical since, for each step, we must solve a nonlinear operator equation. Therefore, one of the interesting and important problems in the theory of implicit iterative algorithm is to consider the iterative algorithm with errors. That is an efficient iterative algorithm to compute approximately fixed point of nonlinear mappings and solutions of equilibrium problems.

In this paper, motivated by Xu and Ori [15], we introduce a two-step implicit iterative algorithm with errors for the problem (2.2). Weak convergence theorems of purposed implicit iterative schemes are established in the framework of Hilbert spaces.

In order to prove our main results, we need the following concepts and lemmas.

Recall that a space X is said to satisfy Opial condition [17], if for each sequence $\{x_n\}$ in X, the condition that the sequence $x_n \to x$ weakly implies that

$$\liminf_{n \to \infty} ||x_n - x|| < \liminf_{n \to \infty} ||x_n - y||$$

for all $y \in X$ and $y \neq x$.

Lemma 2.1 ([18]). Suppose that H is a real Hilbert space and $0 for all <math>n \ge 1$. Suppose further that $\{x_n\}$ and $\{y_n\}$ are sequences of H such that

$$\limsup_{n \to \infty} ||x_n|| \le r, \quad \limsup_{n \to \infty} ||y_n|| \le r$$

and

$$\lim_{n \to \infty} ||t_n x_n + (1 - t_n) y_n|| = r$$

hold for some $r \ge 0$. Then $\lim_{n\to\infty} ||x_n - y_n|| = 0$.

The following lemma can be found in [1] and [16].

Lemma 2.2. Let C be a nonempty closed convex subset of H ad let $F: C \times C \to \mathbb{R}$ be a bifunction satisfying (A1)-(A4). Then, for any r > 0 and $x \in H$, there exists $z \in C$ such that $F(z,y) + \frac{1}{r}\langle y - z, z - x \rangle \geq 0$, $\forall y \in C$. Further, define a mapping

$$T_r x = \{ z \in C : F(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \quad \forall y \in C \}$$

for all r > 0 and $x \in H$. Then, the following hold:

- (1) T_r is single-valued;
- (2) T_r is firmly nonexpansive, i.e., for any $x, y \in H$,

$$||T_r x - T_r y||^2 \le \langle T_r x - T_r y, x - y \rangle;$$

- (3) $F(T_r) = EP(F);$
- (4) EP(F) is closed and convex.

Lemma 2.3 ([19]). Let $\{a_n\}$, $\{b_n\}$ and $\{c_n\}$ be three nonnegative sequences satisfying the following condition:

$$a_{n+1} \le (1+b_n)a_n + c_n, \quad \forall n \ge n_0.$$

where n_0 is some nonnegative integer, $\sum_{n=0}^{\infty} c_n < \infty$ and $\sum_{n=0}^{\infty} b_n < \infty$. Then $\lim_{n\to\infty} a_n$ exists.

3. Main results

Theorem 3.1. Let C be a nonempty closed and convex subset of H. Let F_1 and F_2 be two bifunctions from $C \times C$ to \mathbb{R} satisfying (A1)-(A4) such that $EP = EP(F_1) \cap EP(F_2) \neq \emptyset$. Let $\{x_n\}$ be a sequence generated by the following manner:

$$\begin{cases} x_0 \in H, \ chosen \ arbitrily \\ y_n = \beta_n x_n + (1 - \beta_n)\theta_n + v_n, \\ x_n = \alpha_n x_{n-1} + (1 - \alpha_n)\eta_n + u_n, \quad \forall n \ge 1, \end{cases}$$

$$(3.1)$$

where θ_n , and η_n are such that

$$F_1(\theta_n, \mu) + \frac{1}{\lambda_n} \langle \mu - \theta_n, \theta_n - x_n \rangle \ge 0, \quad \forall \mu \in C,$$

and

$$F_2(\eta_n, \nu) + \frac{1}{\rho_n} \langle \nu - \eta_n, \eta_n - y_n \rangle \ge 0, \quad \forall \nu \in C,$$

 $\{\lambda_n\} \subset (0,\infty), \{\rho_n\} \subset (0,\infty), \{\alpha_n\} \subset (0,1), \{\beta_n\} \subset (0,1) \text{ and } \{u_n\}, \{v_n\} \text{ are bounded sequences. Assume that the following conditions are satisfied}$

- (1) $a \le \alpha_n, \beta_n \le b$, where 0 < a < b < 1;
- (2) $\liminf_{n\to\infty} \lambda_n > 0$ and $\liminf_{n\to\infty} \rho_n > 0$;

(3)
$$\sum_{n=1}^{\infty} (\|u_n\| + \|v_n\|) < \infty.$$

Then the sequence $\{x_n\}$ converges weakly to some point in EP.

Proof. In view of Lemma 2.2, we see that $\eta_n = S_{\rho_n} y_n$ and $\theta_n = T_{\lambda_n} x_n$. Whenever needed, we shall equivalently write the implicit iteration (3.1) as

$$\begin{cases} x_0 \in H, \ chosen \ arbitrily \\ y_n = \beta_n x_n + (1 - \beta_n) T_{\lambda_n} x_n + v_n, \\ x_n = \alpha_n x_{n-1} + (1 - \alpha_n) S_{\rho_n} y_n + u_n. \end{cases}$$

$$(3.2)$$

Fixing $p \in EP$, we obtain that

$$||y_n - p|| \le \beta_n ||x_n - p|| + (1 - \beta_n) ||T_{\lambda_n} x_n - p|| + ||v_n||$$

$$\le ||x_n - p|| + ||u_n||.$$
(3.3)

This implies that

$$||x_n - p|| \le \alpha_n ||x_{n-1} - p|| + (1 - \alpha_n) ||S_{\rho_n} y_n - p|| + ||u_n||$$

$$\le \alpha_n ||x_{n-1} - p|| + (1 - \alpha_n) ||y_n - p|| + ||u_n||$$

$$\le \alpha_n ||x_{n-1} - p|| + (1 - \alpha_n) ||x_n - p|| + ||u_n|| + ||u_n||.$$

This in turn implies that

$$||x_n - p|| \le ||x_{n-1} - p|| + \frac{||u_n|| + ||u_n||}{a}.$$

In view of Lemma 2.3, we obtain that $\lim_{n\to\infty} ||x_n - p||$ exits. Next, we assume that $\lim_{n\to\infty} ||x_n - p|| = d > 0$. Note that

$$\lim_{n \to \infty} \sup \|x_{n-1} - p + u_n\| \le d. \tag{3.4}$$

In view of (3.3), we see that

$$\limsup_{n \to \infty} \|S_{\rho_n} y_n - p + u_n\| \le \limsup_{n \to \infty} (\|y_n - p\| + \|u_n\|) \le d.$$
 (3.5)

On the other hand, we have

$$\lim_{n \to \infty} ||x_n - p|| = \lim_{n \to \infty} ||\alpha_n(x_{n-1} - p + u_n) + (1 - \alpha_n)(S_{\rho_n}y_n - p + u_n)|| = d.$$
 (3.6)

Combining (3.4), (3.5) with (3.6), we obtain from Lemma 2.1 that

$$\lim_{n \to \infty} ||x_{n-1} - S_{\rho_n} y_n|| = 0. \tag{3.7}$$

It follows from (3.2) that

$$x_n - x_{n-1} = (1 - \alpha_n)(S_{\rho_n}y_n - x_{n-1}) + u_n.$$

In view of (3.7), we see from the condition (3) that

$$\lim_{n \to \infty} ||x_{n-1} - x_n|| = 0. \tag{3.8}$$

Note that

$$||x_n - p|| \le \alpha_n ||x_{n-1} - p|| + (1 - \alpha_n) ||S_{\rho_n} y_n - p|| + u_n$$

$$\le \alpha_n ||x_{n-1} - S_{\rho_n} y_n|| + ||S_{\rho_n} y_n - p|| + u_n$$

$$\le \alpha_n ||x_{n-1} - S_{\rho_n} y_n|| + ||y_n - p|| + u_n,$$

from which it follows that $\liminf_{n\to\infty} \|y_n - p\| \ge d$. In view of (3.3), we also have $\limsup_{n\to\infty} \|y_n - p\| \le d$. It follows that

$$\lim_{n \to \infty} \|y_n - p\| = \lim_{n \to \infty} \|\beta_n (x_n - p + v_n) + (1 - \beta_n) (T_{\lambda_n} x_n - p + v_n)\| = d.$$

On the other hand, we have

$$\limsup_{n \to \infty} \|x_n - p + v_n\| \le d$$

and

$$\limsup_{n \to \infty} ||T_{\lambda_n} x_n - p + v_n|| \le \limsup_{n \to \infty} (||x_n - p|| + ||v_n||) \le d.$$

By virtue of Lemma 2.1, we obtain that

$$\lim_{n \to \infty} ||T_{\lambda_n} x_n - x_n|| = 0. \tag{3.9}$$

Note that

$$||S_{\rho_n}x_n - x_n|| \le ||S_{\rho_n}x_n - S_{\rho_n}x_{n-1}|| + ||S_{\rho_n}x_{n-1} - S_{\rho_n}y_n|| + ||S_{\rho_n}y_n - x_n||$$

$$\le 2||x_n - x_{n-1}|| + ||x_{n-1} - y_n|| + ||S_{\rho_n}y_n - x_{n-1}||$$

$$\le 3||x_n - x_{n-1}|| + ||T_{\lambda_n}x_n - x_n|| + v_n + ||S_{\rho_n}y_n - x_{n-1}||.$$

In view of (3.7), (3.8) and (3.9), we arrive at

$$\lim_{n \to \infty} \|S_{\rho_n} x_n - x_n\| = 0. \tag{3.10}$$

Since the sequence $\{x_n\}$ is a bounded, we see that there exists a subsequence $\{x_{n_i}\}$ of $\{x_n\}$ such that $x_{n_i} \rightharpoonup q$. It follows that $\theta_{n_i} \rightharpoonup q$.

Next, we show that $q \in EP$. First, we prove $q \in FP(F_1)$. Since $\theta_n = T_{\lambda_n}x_n$, we have

$$F_1(\theta_n, \mu) + \frac{1}{\lambda_n} \langle \mu - \theta_n, \theta_n - x_n \rangle \ge 0, \quad \forall \mu \in C.$$

It follows from (A2) that

$$\langle \mu - \theta_n, \frac{\theta_n - x_n}{\lambda_n} \rangle \ge F_1(\mu, \theta_n)$$

and hence

$$\langle \mu - \theta_{n_i}, \frac{\theta_{n_i} - x_{n_i}}{\lambda_{n_i}} \rangle \ge F_1(\mu, \theta_{n_i}).$$

Since $\frac{\theta_{n_i}-x_{n_i}}{\lambda_{n_i}} \to 0$, $\theta_{n_i} \rightharpoonup q$ and (A4), we have $F_1(\mu,q) \leq 0$ for all $\mu \in C$. For t with $0 < t \leq 1$ and $\mu \in C$, let $\mu_t = t\mu + (1-t)q$. Since $\mu \in C$ and $q \in C$, we have $\mu_t \in C$ and hence $F_1(\mu_t,q) \leq 0$. So, we obtain from (A1) and (A4) that

$$0 = F_1(\mu_t, \mu_t) \le tF_1(\mu_t, \mu) + (1 - t)F_1(\mu_t, q) \le tF_1(\mu_t, \mu).$$

That is, $F_1(\mu_t, \mu) \geq 0$. It follows from (A3) that $F_1(q, \mu) \geq 0$ for all $\mu \in C$ and hence $q \in EP(F_1)$. Note that

$$||y_n - S_{\rho_n} y_n|| \le ||y_n - x_{n-1}|| + ||x_{n-1} - S_{\rho_n} y_n||$$

$$\le \beta_n ||x_n - x_{n-1}|| + (1 - \beta_n) ||T_{\lambda_n} x_n - x_{n-1}|| + ||x_{n-1} - S_{\rho_n} y_n|| + ||v_n||$$

$$\le ||x_n - x_{n-1}|| + (1 - \beta_n) ||T_{\lambda_n} x_n - x_n|| + ||x_{n-1} - S_{\rho_n} y_n|| + ||v_n||.$$

From (3.7), (3.8) and (3.9), we see that

$$\lim_{n\to\infty} \|y_n - S_{\rho_n} y_n\| = 0.$$

On the other hand, we have

$$||S_{\rho_n}y_n - x_n|| \le ||S_{\rho_n}y_n - x_{n-1}|| + ||x_{n-1} - x_n||.$$

In view of (3.7) and (3.8), we arrive at

$$\lim_{n \to \infty} ||S_{\rho_n} y_n - x_n|| = 0.$$

This in turn implies that $\eta_{n_i} \rightharpoonup q$. In a similar way, we can obtain that $q \in EP(F_2)$. This proves that $q \in EP = EP(F_1) \cap FP(F_2)$.

Finally, we show that the sequence $\{x_n\}$ converges weakly to q. Suppose the contrary holds. It follows that there exists some subsequence $\{x_{n_j}\}$ of $\{x_n\}$ such that $x_{n_j} \rightharpoonup \bar{q}$ and $q \neq \bar{q}$. By the same method as given above, we can prove that $\bar{q} \in EP$. Put

$$\lim_{n \to \infty} ||x_n - q|| = d_1 \quad \text{and} \quad \lim_{n \to \infty} ||x_n - \bar{q}|| = d_2,$$

where d_1 and d_2 are two nonnegative numbers. In view of Opial's condition, we see that

$$d_1 = \liminf_{i \to \infty} \|x_{n_i} - q\| < \liminf_{i \to \infty} \|x_{n_i} - \bar{q}\| = \liminf_{i \to \infty} \|x_{n_j} - \bar{q}\| < \liminf_{i \to \infty} \|x_{n_j} - q\| = d_1.$$

This is a contradiction. Hence $\bar{q} = q$. This shows that the sequence $\{x_n\}$ converges weakly to q. The proof is completed.

As corollaries of Theorem 3.1, we have the following results.

Corollary 3.2. Let C be a nonempty closed and convex subset of H. Let F be a bifunction from $C \times C$ to \mathbb{R} satisfying (A1)-(A4) such that $EP(F) \neq \emptyset$. Let $\{x_n\}$ be a sequence generated by the following manner:

$$\begin{cases} x_0 \in H, \ chosen \ arbitrily \\ y_n = \beta_n x_n + (1 - \beta_n)\theta_n + v_n, \\ x_n = \alpha_n x_{n-1} + (1 - \alpha_n)P_C y_n + u_n, \quad \forall n \ge 1, \end{cases}$$

where θ_n is such that

$$F(\theta_n, \mu) + \frac{1}{\lambda_n} \langle \mu - \theta_n, \theta_n - x_n \rangle \ge 0, \quad \forall \mu \in C,$$

 $\{\lambda_n\} \subset (0,\infty), \{\alpha_n\} \subset (0,1), \{\beta_n\} \subset (0,1) \text{ and } \{u_n\}, \{v_n\} \text{ are bounded sequences.}$ Assume that the following conditions are satisfied

- (1) $a \le \alpha_n, \beta_n \le b$, where 0 < a < b < 1;
- (2) $\liminf_{n\to\infty} \lambda_n > 0$;

(3)
$$\sum_{n=1}^{\infty} (\|u_n\| + \|v_n\|) < \infty.$$

Then the sequence $\{x_n\}$ weakly converges to some point in EP(F).

Proof. Put $F_2(x,y) = 0$ for all $x,y \in C$ and $\rho_n = 1$ for all $n \geq 1$. It follows that $\eta_n = P_C y_n$. We can conclude the desired conclusion easily from Theorem 2.1.

If we put $F_1(x,y) = 0$ for all $x,y \in C$ and $\lambda_n = 1$ for all $n \geq 1$, then we have the following result.

Corollary 3.3. Let C be a nonempty closed and convex subset of a real Hilbert space H. Let F be a bifunction from $C \times C$ to \mathbb{R} satisfying (A1)-(A4) such that $EP(F) \neq \emptyset$. Let $\{x_n\}$ be a sequence generated by the following manner:

$$\begin{cases} x_0 \in C, \ chosen \ arbitrily \\ x_n = \alpha_n x_{n-1} + (1 - \alpha_n) \eta_n, \quad \forall n \ge 1, \end{cases}$$

where η_n is such that

$$F(\eta_n, \nu) + \frac{1}{\rho_n} \langle \nu - \eta_n, \eta_n - x_n \rangle \ge 0, \quad \forall \nu \in C,$$

 $\{\rho_n\} \subset (0,\infty), \ \{\alpha_n\} \subset (0,1) \ and \ \{\beta_n\} \subset (0,1).$ Assume that the following conditions are satisfied

- (1) $a \le \alpha_n, \beta_n \le b$, where 0 < a < b < 1;
- (2) $\liminf_{n\to\infty} \rho_n > 0$.

Then the sequence $\{x_n\}$ weakly converges to some point in EP(F).

Remark 3.4. In this paper, we study a system of bifunction equilibrium problems based on an implicit iterative algorithm. Weak convergence theorems of solutions are established. However, we do no know what restrictions imposed on the parameters or the subset C can let strong convergence theorems be guaranteed. It is of interest to improve the paper on the framework from Hilbert spaces to Banach spaces.

References

[1] E. Blum, W. Oettli, From optimization and variational inequalities to equilibrium problems, Math. Stud. 63 (1994) 123-145.

- [2] Y.J. Cho, X. Qin, J.I. Kang, Convergence theorems based on hybrid methods for generalized equilibrium problems and fixed point problems, Nonlinear Anal. 71 (2009) 4203-4214.
- [3] Y.J. Cho, S.M. Kang, X. Qin, On systems of generalized nonlinear variational inequalities in Banach spaces, Appl. Math. Comput. 206 (2008) 214-220.
- [4] Y.J. Cho, X. Qin, Systems of generalized nonlinear variational inequalities and its projection methods, Nonlinear Anal. 69 (2008) 4443-4451.
- [5] Y.J. Cho, X. Qin, J.I. Kang, Convergence theorems based on hybrid methods for generalized equilibrium problems and fixed point problems, Nonlinear Anal. 71 (2009) 4203-4214.
- [6] L.C. Ceng, J.C. Yao, A hybrid iterative scheme for mixed equilibrium problems and fixed point problems, J. Comput. Appl. Math. 214 (2008) 186-201.
- [7] L.C. Ceng, J.C. Yao, Hybrid viscosity approximation schemes for equilibrium problems and fixed point problems of infinitely many nonexpansive mappings, Appl. Math. Comput. 198 (2008) 729-741.
- [8] V. Colao, G.L. Acedo, G. Marino, An implicit method for finding common solutions of variational inequalities and systems of equilibrium problems and fixed points of infinite family of nonexpansive mappings, Nonlinear Anal. 71 (2009) 2708-2715.
- [9] V. Colao, G. Marino, H.K. Xu, An iterative method for finding common solutions of equilibrium and fixed point problems, J. Math. Anal. Appl. 334 (2008) 340-352.
- [10] X. Qin, M. Shang, Y. Su, Strong convergence of a general iterative algorithm for equilibrium problems and variational inequality problems, Math. Comput. Model. 48 (2008) 1033-1046.
- [11] X. Qin, Y.J. Cho, S.M. Kang, Convergence theorems of common elements for equilibrium problems and fixed point problems in Banach spaces, J. Comput. Appl. Math. 225 (2009) 20-30.
- [12] S. Plubtieng, R. Punpaeng, A new iterative method for equilibrium problems and fixed point problems of nonexpansive mappings and monotone mappings, Appl. Math. Comput. 197 (2008) 548-558.
- [13] P. Kumam, A hybrid approximation method for equilibrium and fixed point problems for a monotone mapping and a nonexpansive mapping, Nonlinear Anal. 2 (2008) 1245-1255.
- [14] S. Takahashi, W. Takahashi, Viscosity approximation methods for equilibrium problems and fixed point problems in Hilbert spaces, J. Math. Anal. Appl. 331 (2007) 506-515.
- [15] H.K. Xu, M.G. Ori, An implicit iterative process for nonexpansive mappings, Numer. Funct. Anal. Optim. 22 (2001) 767-773.
- [16] P.L. Combettes, S.A. Hirstoaga, Equilibrium programming in Hilbert spaces, J. Nonlinear Convex Anal. 6 (2005) 117-136.
- [17] Z. Opial, Weak convergence of the sequence of successive approximation for nonexpansive mappings, Bull. Amer. Math. Soc. 73 (1967) 561-597.

- [18] J. Schu, Weak and strong convergence of fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1991) 153-159.
- [19] K.K. Tan, H.K. Xu, Approximating fixed points of nonexpansive mappings by the Ishikawa iterative process, J. Math. Anal. Appl. 178 (1993) 301-308.